CARPENTRY
HISOT

( Theory )
(252)
Time : 2 Hours | [ Maximum Marks : 30
T ;2 Hue | [ guifek : 30
Note : All questions are compulsory and carry marks as indicated against each

question.
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1. Fill in the blanks with appropriate words given in the brackets : 1x10=10
o Tl it qfd et #§ feu Mo 3fed wet gr

trees is hard wood.

(a) Wood obtained from
( deodar, kail, mulberry )

—— I8 ¥ U ARE HIR ARl Bl B

( 9S8, T, TEqd )
(b) is caused if the tree remains continuously bend in one direction.
( Upsets, Twisted fibres, Distortion )
—— Y 39 Tl &, A I TR TH & e § g1 wan g
( 3ToEe, UaT g3 L, fomeuw )
(c) —— seasoning is natural seasoning of timber.

( Air, Kiln, Chemical )

— TR (YU FAT) AR RS F SR A W e Tihfas ITER 71
(7@, 9, TR )
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(d) —— gauge is used for marking fine deep lines for dovetail joints.

( Marking, Mortise, Depth marking )

—— A WM gEd (Tedd) Sie sMH H gew el wned fufRd we o
Bl g ( mfehm, mifdd, Svor wifh )

(e)

is used to measure angle of 45°.

( Metre square, Caliper, Rule )

—— %1 ITAN 45° 1 B HOH € S 2 ( i ThRR, Heliw, ® )
(f) In a set square, one angle is 90°, and the other angles are of —.

( 30° and 60°, 40° and 50°, 35° and 55°)

U2 TFRR | TH HI 90° H FAT © qAT W & HM —— F B 2
( 30° 3R 60°, 40° 3R 50°, 35° 3T 55° )

(g) Isometric drawing has as the angle of inclination.

( 30°, 60°, 45° )

JMEEMIH @I § R H HIOT —— HT Bl 2| ( 30°, 60°, 45° )

(h) The unit indicates volume measurement.

( metre, cubic metre, square metre )

(A HI W g R ( #iex, Hforen Hiet, @R Wi )

(i) Oilstone is a tool used for —— operation.

( measuring, sharpening, cutting )

e (fagh) s ofiem ® e 3w —— ufseen & 2ran 2
( w1 Y, SIS A S, A )

(i) —— cost comes under direct cost.

( Material, Administrative, Depreciation )

— iud (qed) Teas Fiud & a2 ( wmft, g, SEHe )
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2. Indicate whether the following statements are True (T) or False (F) : 1x10=10

g = o Feffad wom g (T) € a1 3@ (F) :

(a) Conifers have long needle-shaped leaves and are found mainly at high
altitude.

IFI o TA oI AIhER BId © 3R F 98 GeId: St e W R S 2

(b) Dry rot is caused in living trees.

I G- Hsfia gaft & Bt 7

(c) Timber is liable to decay even with seasoning.

foraw g & @1e oft A9 B S 2

(d) Bench hook is used to support wooden piece for planing.

S o ol START RS o Zohe oh1 THACHTERYT 3 THY TTehal i HETT & o foft &id 2 |

(e) The jaws of carpenter’s vice are lined with softwood.

@S % T3Sl o SISl U iAol iehel i Ud ol ardl 2 |

(f) Drawing is the pictorial representation of an object on paper.

M@ FTS R TRt g 1 Fesmenss o g 2

(9) 3B pencil is a hard pencil.
3B Ufa T FER U 7|

(h) A compass saw is used for interior and profile cutting.

FIIAT (FEITE) TRY BT TERT AT qT IIEY FIE % fore 2rar 2

(i) The use of file is for sharpening tools.

It T TN SIS o O (M) o forg g g

() Making a rectangular hole in specimen is known as grooving.

Toreft frraet (TUEim) o TraaTeRn fesg ST 6 wfshar =ht @ =11 et (fET) ST Red B
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3. Give one suitable use for each of the following forms of polish : 1x5=5

Frfafaa TR it T uifawr &1 Th-Teh 3fea 3qam fog .

(a) Wax polish
H gifert

(b) Marine varnish
A T

(c) White polish
Tha iteTsT

(d) Oil polish
aa difert

(e) Button polish
ECalII]

4. What is the importance of joints in carpentry? How are the joints in carpentry
classified? 5

FESAH SISl 1 F1 e of FesRRl H WSl I ford TR § ffeha foRam S wehal &7

* Kk Kk
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